Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-611 Plastpro Fiberglass Fiush GLZ\C - Drawings\REV 2020\TX-4212-13.dwg

POWERED Bvlg
il

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD’ D R - 6 1 1
The Fiberglass Door system described herein compilies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

4. drawing.
Conditions not covered by this drawing are subject to further engineering
analysis,
TABLE OF CONTENTS
SHEET# | DESCRIPTION

1 Typical elevations, design pressures & general notes
Astragal details (Ulfimate Flip Lever)

Astragal details (Ultimate Multi-point)

Astragal detdils (Ultimate Huricane}

Door panel details {fip lite insert glazing)

Horizontal cross sections

Vertical cross sections

Frame anchoring

WiNiON[O | AW N

73.94" MAX. FRAME WIDTH

81.94" MAX. O.A. FRAME
HEIGHT (INSWING)
81.125" MAX. O.A

FRAME HEIGHT (OUTSWING)

P L LT

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9187

BUILDING CONSULTANTS, INC.
P.O. Box 230 Vairico FL. 33595

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

LIP LITE INSERT

INSWING

+50.0

-40.0

XX

LIP LITE INSERT

OUTSWING

+45.0

-45.0

+45.0

-45.0

+40.0

-40.0

)
L
Z e
28
]
T |
=
g
& Bl
> <O
S |2 n
=l
i &l o
0l “n
2 2t
< O
g el 82
[&] o Q_Eg
2
2 g o
o o
—inlnin >
S
> |w
412 |8
3o &
al |<
(N E
x z|=
=t
§Omﬂ'm 0
=ElalRIZl 16
0 u]—J(DI— —
-m0<2f5 (..Q
oflZi ikl a
NTIRlG|o
o Qi< = 0
g Lt sl R 114
mck§<
= P et d a
<[
£lz|8(8|8
Slelgig|<
SR IChn v
NN A
SRR
NNSRRIS
g by g {10 o
FO'
w|w{mloi—|S
oate: 8/09/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4212

sHeer 1 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SANVLINSNOG aNIiaTing 'm's 2102 9

Svxal SNOISIATY
SZNions TVNoISSHaoNa 40 GHvOR SV (M3A37 dd ILYALLTN)
SYIINIONZ émo_m.mu”_om.wouo%”“om STVLIA WOVYLSY m>..m SN G50 IW.MMW : wz m e % N o_w_
cesee \...wmnmomm_mo\m MnN xog .O.m\N\Mq ATENESSY 0 LdVd | 537 3unldvO Nid vavH.ISY MIN aav| cL/cso/s! 2 w ..Nl . Q i
*ONI ‘SLNVLINSNOD ONIaTINg @ S41 SAIOHSAYHL a3aav|gt/zo/Li] € | ) g 3 2_
Svxal IW [XINO G3Zv19 I¥3SNI OL G3SIAZH| 81/2/11 | ¥ | O |5 5|g &
£ZivoLf -a'd V4NAN3 S41| 3002 2i/081 810z 0l 31¥adn|iz/0L/iL| S | @ m glsls i
‘F'd IPIMIYDSS d uopuly :Ag pedndesd sjuewunsoq T5a0u4 elalsl5f ;
P4
.‘n\\hs\“wv... oaoﬂo.q np.\ gl@lbl@nlm
g%f mmz.@.w.......,....m .
sosaenesennessees? " f
TGOS SNON 2 *
W Su & 1T
NS v... )‘U‘
T 5308 »
I 71750 25 .
Praanpass o 2
| < l»l
. L. St
; R 85 5 _ 8L w
:70 - M mw |f
o S =2 _
T e « .
it ; e
2 — 3
- O
] =] < . u 5
) & y :
. 5 | 2 © 3 8
S | O S 5
=
<
3, _1 |
0
. o |
0oz
R & ) 89T
NES
v
274
o
X
O]
z
<
3
in
™~
| i 3
u. 2
. [»°4
| Q v m
. : : :
Wi . 5 <
> o ps Q
YR 3 £ 0 3
S5 @& o %
dOl m z S w
xI
28§ = &
= O &N ¢
S = = 2
5 E = =
z = X
28z
2 =T
[ 2] g
£ o § %
o P-4 2
: O o =
N2 &
=8 i ‘A
X —
22 3
xI
3 Q « }
SE 3 / Y
/ ) z
: <
3 %
: —
— & <L
lﬂ» 8 !
_s (" :
«Mn 1\ &/ A 2 Oa ] IA.I W
g o
> T
g . j 2
£ - . =
£ : =
= : :
: 2 3 =
g m :
[ : -
@
[%¢)
: s N
m.v Eii
m RN e i S ey ————% =\ \

BMP'EL-2L2b-X1\0202 AT¥\sButmeid - D\Z19 Usny4 sse|Biaqid oidiseld 119-YQ - IAL\sul JO 3daQ sexa] - S\LNINVINYId BINPUI\SIUBID\Z



CONJ SAINVYLINSNOG GNIOTHNg MM 2102 @

Z6BLL—d # NOUVHLISIONM 40 ILVOLILNID - SNOISIATY
SYIINIOND TYNOISSIAONd 40 QUVOS SVXIL (INIOJ=LLINW 3LYALLTN) Ad 31vd [ON{
SV.LIA IVOVHLSY 5] = Nl il o]
L618°660°CL8 FON SUONY . IS ONILVINOLLYY d30av|¥1/L0/L | L |5l <= |
GBSET 14 OSWIDA OEZ X08 ‘O'd \§ *KIGN3SSY_¥0 1dVd |'SJ7| 38N1dvo NId_VOVaISY MIN _aav| 61/50/5 | 2 | oof s QS
"ONI "SLNVLINSNOD ONIaTING @a sd1 SATIOHS3YHL daaaviei/zo/Li] € m = B g | 3_
AN TAINO Q37v19 IM3SNI 0L QasIAgd| 81/L/itL ] v ™ &1 & Q W
£ZLYOL# “I'd Svxal VaNanNd S47| 3000 0dI/08l 8102 OL 31vadn|iz/0L/Li| S | @ m s|x|Z &
B'd WIS d Uopuk] 1Ay pedpdedd sjpuewinosog 119naoyd 28 W |2 z
‘2 y
> WOLLOY 7
.V» WN V“@.Wo:::“oﬂ»: ﬂw « m
FRevennanaenessot v:u.av QL
4 TiNoS A NOINALE
L) '.u..to:.:o-ooono : =z
; % 4 s ~ °
Bx, .%. Sood H 5
Nw V\....:a: ..-s..oo...# &~ = -m
M I1 50 3% | 9 5
g z
H 9 N
..0. ju
: S0 o . : w
m < m ) 8L m
g n < c
it nraw 0 n.mhv
& * 8
= N + N S
B o~ _ (&)
Y] 2y ) 3
z v (s} ™ =
3 | & = 3 5
Q
Q
~ o2
~ C Al :WO.N
v
[274
O
o
Q
Z
<
] < - T
{ig. .mN LFxY ﬂL’
. 5 L
o |
]
[o X (721
° [e} Q w =
LY = £ 2 o
. & 2
or 5, 9 2
dOl v T fa Z
= Q 5
S 8 Q b
nUu 23 = =
P 0 xI =
g o - =
5 £ ¥ <
T E - S
$ = x 2
§y g S
g = S
% o \
= - >
2 (24
Sa 9 ‘ '/
- m W i
> = S S —
o= T 2 —Eree— —
*I e & s <
s]E <3 e B
=a .M 9 7 m
/ o 0
s Q o
< 9 o —
g = 3 E £
-2 K o 2 <
LY 3 8 ]
& 9 \ 3 Ko o
s -’ &/ e AN = S 3 o
V=7 X ] . 2 —
£ 5 s H
£ = 2 ] )
£ 2L = — S
=2 w— [, > (4
< £ o ) z L
! 9] 5] 2 S —
(] oz 5
% _ 5 £ <
0 G <o 2 >
2 S 5< = —_
S - T 2 =
o [} | < |
‘ : N\
o]
o
> — L
e e ey

BmMp gL -ZL2-X1\0202 AZu\sBumesq - J\Z19 ysni4 ssejbiaqid osdiseld L19-¥A - 1AL\sU] 40 3da@ sexa] - S\LNINVINYId eJnpua\susIO\NZ



"ONI SLNVLINSNGOZ GNIgTng "M'd 2102

SZEB ke E NS o sz (ORRINH VAT g S SIva ToN
STVLA@ 1vIvelsy ] TS ONILYINOILYY 43d Slulx|@] o 8_
L616°669°CLE "ON ouoyd . v a3aav| vi/L0/1 1 L N m S| =1,
GESCE "4 OSMIDA OFEZ xog .O.&g SATENISSY H0 LdVd | 547 J¥NLdYD Nid TvaVHISY MIN aav| 6i/so/s] ¢ 1ol . Q o
“on1 "Suwvinsnos g 2o S41 SCIOHS3gHL_03aav|91/z0/11] € || = 2 1|
LA [AINO d3Zv19 L¥3SNI OL a3SIA3d| 8L/2/LL ] v |®| & | Ele X
SZTLYOLF “I'd SXAL VaNaN3 S47| 3000 o¥i/8l 810z ol 3ivadn|iz/01/1i] 6 |u|d|s|x|E | B
*I'd WPIWYDS "4 uopul :Ag pedodeud sjuswndog 1190a0Nd = W 3 W F
{50)
M
oz
2 W
-
=i &=
s, ©
= Lo
2 22 4
falw <z <
s
Q
5
O
0
Q
=
WOLLO8 Q
o8
5
v
| = g
PO
< o
) <
> [ee]
= [o0] H
- _.D. 3=
i wy
1 L32]
il
..l.
z3
22
2 «£€0 -3
Z o A EL
= Z T << @
< L m =
2 S 3 o 2
= -l et n oz i —
& w 1 2= > 2 = mnu
Q = < —-— O ../ [ Sy
A R <| = = T3 <
Y oy = i e Ol ol
o} g x|z @ 5 >
5 £ =l A1 2
Z - B - 5 3
— :m‘o ’L - & |NI
2 g 3
2 = F e
m [N SO ———— m m
o o0
u LLi
[
. m m-l\.w
Y/ z
O
—
Q
|| in ]
= ! J 2
T v Y {: )
&= } y b4
QO o o2
w - 0 <C
> & <0 o
oo o O S
A S £0
=3 = 59T
2 =
xZ <C
o @)
5= <
g oZ
= —
Q v
g <C
[+ 4
: >
S w <
V ———,
X o
£ E Ep O
= [ vy 52 R
X o -
[a%4
99 Q& -]
hand [~a]
=8 A T
&3 Q= M
i =
® \ N -

Bmp e L-Z12-X1\0202 AFu\sBuimelq - \Z19 ysni4 ssejbiaqid oidiseld L19-¥A - 1QL\sul Jo 1daq sexa) - S\LNINVINYIJ BInpuz\siudiD\Z



"ON| SLNVLINSNOD aNIaNung "m"y 2102 O

2S811—4 # NOLVAISIONY 40 3LVOLLLNID SNOISIATY
SYIANIONI WNOISSIJ0dd 40 QuvOE SvXal (9NI1Zv19 L¥3SNI 3L11 din) Ag 31vd TON| ey
STVL3d TINVd 4004 A itn] & | ®
[616'659°CL8 FON OUOUd S41 TNIS_ONLYINOLLYY 030a¥] #1/20/1 | 1 1| WX ) &) 7
GESCE "4 COMIA 0SZ X0F ‘O-d \Su@. “ATBNISSY ¥O0 IMVd [ S47[3NIdv0 Nid 1vovdISY MaN dav|G1/so/s| 2 |oo|=| |7, | 6
*ONI ‘SINVLIINSNOO ONIdING SEL SATOHS3YHL d3davigL/eo/LL] € m < R 2 | 5_
LN [AINO 03219 1¥3SNI OL a3SIAFY| 81/2/1L| v+ |®| |&5|&le &
_SZLv0Lf T SwXAL VHNaN3 41| 3000 ¥I/08l 810z OL 3ivadn|iz/ot/ti[ 6 ||| (¢ |3 &
F'd ‘IPRUYDS "d UOPUAT 1Ag pesndeid sjuswnooQg 10Na0Nd S & W m & w
“z 4
S
. = . =
ll :N _. R :N _ 0
5 =
ul O
! 4
T T < T < ST (2]
...». .V - v n.V.vm P S C oy d c.c. o R Aﬂ”.H_ m
B P T, Lo <1 o
SRR .»..v‘. w~.v. == N2 44 g : : . .c.,,.a....i . O
L L ».. ~ . ......A." A v Lk e w—
;».. 8l : - ‘\.. i) v iﬂ_ m
w
W —_ o >
Q o =
a4 z o
E w < —
=z o L = o N
- O - O =
Ox Z ED
= SE Q0
<5 9 e
O o ZE
_ S 3=
- :WN._. e th m mh
£ %S
0. e
<
| 0 .
L4
— =
7 & a 8 g
[ < 3 5
o O O
g 2 8 B
.| G = > 2, &
S = Lir L (TN
s . w = 0
0 © = 0O =< =
S n z Hgy
| X z z “ H
—4 O . b B2 B o
< & T 17T €=
o \y/ &%
B 4 E ‘ V74 m M
. . & " o<
R F- S L il
4 a4 : % m (753 mU
. ..bn <€ O P =
O o &0
| I o E
Q<
o5
: ®
-
1) O
3] 2 o I
e P o) ol %
] - = el o
2 : 2 3
O ] £ / wi <
oL v 7 ~\ >
Y 18] - £
) oz = ,vm S
& 1 o} = =
& & <
= > (o)
z i N
= oc
(®]
x
mw
Ll 1
o8y
R 58
T g w0 £ 5D
9 Ve . W = m
AR 28e
I £
s " ..4. =
w/ ) W‘ R W\. b
o TR A Y < E -
. < ¥ — > B « oo
PR S $g <2 IHOBEH 0T
s \G =3 =2 _ XYW .0'€9
-1 . - Z D m 50
s x s Z =
3 < o~ M
* IHOIEH TaNVd
} T L 4000 XYW 576/
» £
: <
%
o Q

BMP'EL-ZL2-X1\0202 AF¥\sBumesd - D\Z1D ysni4 ssejbiaqid oidiseld LL9-¥A - IQL\sU| 40 3da sexa] - S\LNINVINYId einpua\susid\:z




~ DEADBOLT: KWIKSET SIGNATURE SERIES
(980/985)

~~ LATCH: KWIKSET SIGNATURE SERIES
(991)

CORNER PADS (TYP.)

/

174" MAX. 015"
SHIM SPACE o CSINK
EXT. SHEATHING (TYP.)
2X FRAMING ;' j = :.' :-' ;’ ; #10 X 2.5" PFH WOOD SCREW
—

(G >=0.42) ‘\

~— JAMB
ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR

X

%
\i INTERIOR
#8 X 1" PFH SM$S

4" HINGE

DRYWALL / /
#8 X 2.5" PFH WOOD SCREW

#8 X 3/4" PFH SMS

m HORIZONTAL CROSS SECTION
w Inswing shown - Outswing also approved

#llid /

EXT. SHEATHING \ Al : ) / DRYWALL

L #10X 25" PFH

- T 2X FRAMING
<~ (G >=0.42)

SR

[ // WOOD SCREW
1/4" MAX. o

SHIMSPACE . fflll

0.15"
C'SINK
(TYP)

-

DOOR PANEL \
\w HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR W INTERIOR

7“3\ VERTICAL CROSS SECTION

\U Outswing shown - inswing
also approved

ULTIMATE FLIP LEVER ASTRAGAL

ULTIMATE MULTIPOINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL
ENDURA WEATHERSTRIP

(QEBD/PE 650] / DOOR PANEL
x \”

#8 X 3" PFH WS
#8 X 1"PFH WS

A\ Y

@ HORIZONTAL CROSS SECTION
3

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9187

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

ENDURA
HORIZONTAL
CROSS SECTIONS

PRODUCT:

LFS
LFS

FS
BY

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:
1/07/14 |ADDED ARTICULATING SILL

11/7/18 |REVISED TO INSERT GLAZED ONLY | MT

11/10/21]UPDATE TO 2018 IBC/IRC CODE
11/02/16|ADDED THRESHOLDS

NOJ DATE

5

Moy~

DATE: 8,/09/12

scate:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—~4212

SHEET 6 oF 8

ZA\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4212-13.dwg

CERTIFICATE OF REGISTRATION # F—11852

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.



INTERIOR EXTERIOR INTERIOR EXTERIOR ENDURA t S .
Bo 4
|~ DOORPANEL 5OOR PANEL WEATHERSTRIP // DOOR PANEL IS
INTERIOR EXTERIOR £ Bz
ENDURA \ (QEBD/PE 650) BIEROR DURA duy g 3
(DBK-R) DOOR SWEEP (QEBD/PE 650) TR
[DBK-ZAC) ; sk fro 8
b e § L2
(10 320§
000006 285 &
O« 3 Y
E%] g éf W
3 c6 8
298 ¢
m
:

Documents Prepared By

AR N

CERTIFICATE OF REGISTRATION # F—11852

#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" DeWALT OR TW CONCRETESCREW ~ 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4 DeWALT OR ITW CONCRETE SCREW 1/4' X 2-3/4" DeWALT OR ITW CONCRETE SCREW 2
/“1"\ VERTICAL CROSS SECTION /"2 "\ VERTICAL CROSS SECTION /"3 "\ VERTICAL CROSS SECTION ﬂ;\ gEfT'-CAé' CR(T)hss gEgTION . &
inswing Adjustable Threshold Inswing Articulating Threshold Outswing Bump Threshold uiswing Bump Thresnol )
W 94% W w/ PingCapfure 9 \U U 2 &
= S
-~
S 3
! (&= L = I =) S &
5 | = 8 | = 5 g
i i ORI :
olg|olo|el-
| 456" | 456" | | 456" | | 456" - 2
T INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3)INSWING ADJUSTABLE THRESHOLD 2 ) INSWING ADJUSTABLE THRESHOLD 5")INSWING ADJUSTABLE THRESHOLD
ZAILA565 2 7AI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS

MAX. DESIGN PRESSURE = +45 PSF MAX. DESIGN PRESSURE = +45 PSF MAX. DESIGN PRESSURE = +50 PSF

[
C 3

1.65" —=

REVISIONS

! 4.56" !

6 INSWING ARTICULATING THRESHOLD

IACL4565

! 4.56" !

7 INSWING ARTICULATING THRESHOLD
ZACA565FN

MAX. DESIGN PRESSURE = +45 PSF

8 INSWING ARTICULATING THRESHOLD

IACLAA4565

MAX. DESIGN PRESSURE = +45 PSF

?
L‘——-— 4.56"

— 4.56"

! e
il R
| I

9 INSWING ARTICULATING THRESHOLD

IACAA4565FN

MAX. DESIGN PRESSURE = 45 PSF

10 INSWING ARTICULATING THRESHOLD

IACA4565RDS

MAX. DESIGN PRESSURE = 45 PSF

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:
1/07/14 JADDED ARTICULATING SILL

11/7/18 |REVISED TO INSERT GLAZED ONLY| MT

11/10/21|UPDATE TO 2018 IBC/IRC CODE
11/02/16|ADDED THRESHOLDS

MAX. DESIGN PRESSURE = +45 PSF
0|+

1

NOJ DATE

D o)

1 AT -

D 2 i D I bATE: 8/09/12
{ 1 owe. BY:  JK

rv 1.49" —

CHK. BY: LFS
456" ! 4.56" -] !— 4.56" ,! ! 4.56" ! DRAWING NO.:

17) QUISWING THRESHOLD 12) QUISWING THRESHOLD 13) QUISWING THRESHOLD 14 QUISWING THRESHOLD TX—4212

Z0BL4565 ZOB4565FN ZOB4565RDS FOB4566
SHEET _7 oF _8

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4212-13.dwg

© 2012 R.W. BUILDING CONSULTANTS ING.



Z:\Clients\Enduré PERMANENT\B - Texas Dept of Ins\TDI - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4212-13.dwg

TOP OF

6.44" FROM
DOOR PANEL

=
]

37.625"

68.81"

HINGE JAMB

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE {MIN. 3000 PSI)
WOOD (G >= 0.42)

CONCRETE ANCHOR NOTES:

2X framing (by others)

2"

) 7 I‘ ¢
T

YP.)

6“

*] ~ [1YP)

federe:

*

N

W,

N |
DETAIL 1

DETAILZ, 30R 4

ph

6“
(TYP.

el

I

17.5" MAX
0.C. (TYP)

\

N/

4'(TYP.) %

4 (TYP) »»j

= 2'(1YP)
¢

FRAME ANCHORING
XX

#10 X 2.5" PFH WOOD SCREW

174" X 2-3/4" DeWALT OR
ITW CONCRETE SCREW
(TYP @ SILL)

*NOTE: This anchor required for D.P. > 50 PSF.

1. Concrete anchor locations at the corners may be adjusted fo maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

nmw

o 3/16"

TAPCON 14"
DeWALT -
ULTRACONE| 1/4

3/16" X 2-3/4" ITW CONCRETE SCREW

OR

Astragal Strike Plate
@ Head Jamb

A\

A\

[&° :] -

A\

AN

#8 X 3" PFH WOOD SCREW

N
#10 X 2.5" PFH WS

DETAIL 1

#8 X 1"PFH wsé

#8X 1" PFH wsé

1
4&3321
., 4
T

ANV Y
1111
- v:-".“ "o,
X %k ‘o

(3

OF JEx
N FSCHM

A
«
]

<
sesen
o
K
Sersessassarert

LYNDO

*
YL

°h°

I 1 |

/ #8 X 2-1/2" PFH WS

® — #8 X 3/4" PFH W$

(1 4" X 4" HINGE

HINGE DETAIL 1

P #8 X 2-1/2"PFH WS

1 31}

'].\‘0

= #8 X 3/4" PFH WS

— 4" X 4" HINGE

\l

A\Y

HINGE DETAIL 2

ASTRAGAL PIN CAPTURE
COMPONENT (UNDER CAP)

ASTRAGAL STRIKE )
BLATE @ SILL \ 1/2" DIA. HOLE (IN CAP)
S o\ ® s ®
= P = =
1/ZDIA.HOLE pepay 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No,:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

(O]
=
S
& T
) [&]
Q pd
> <
W L
3
o
e '
Q
oo
0
(e}
14
[+ N
o iy
'qum

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:
1/07/14 |ADDED ARTICULATING SILL

11/7/18 |REVISED TO INSERT GLAZED ONLY| MT

11/10/21|UPDATE TO 2018 IBC/IRC_CODE
11/02/16|ADDED THRESHOLDS

o1 S LpT IS At

REVISIONS

NOJ DATE

oatE: 8/09/12

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4212

SHEET _8 ofF _8

© 2012 R.W. BUILDING CONSULTANTS ING.



